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SN se)zE £
SRR 3|§?H“* ‘Z':/\P%*

ol DY 29| 58X £ (S5l &Rl)

S - B SRI(3IH) - NRAY - BYS o plELT HlDEY

=)= 2N 11,412,146 11,431,788 219,642

e ESAE 707,430 720,698 213,268

22y g 88 =X 298,995 304,081 25,086

AR XA X3 212,89 217,981 25,086

202 Oid| 25,774 30,860 Ab,086

01 =LHOAYI 25,774 30,860 25,086

HEZ=ZNHI 25,774 30,860 25,086

ol 2 SLRX 2ATA 2,430 2,700 N270

orEst #EXE 6,309 7,010 AT01

oE=ZE A4S 2oFA 12,580 16,200 23,620

oA HRFO 2,025 2,250 2225

oS YHES| FHA 2,430 2,700 A270

HEE 22 SFxH 408,435 416,617 N8,182

AL H AEE ®XZ2el 216,015 224,197 28,182

201 LBt2 | 212,215 220,397 28,182

02 2322 212,215 220,397 28,182

OAIZEHIR It 54,145 62,327 A8,182

HHY2HAY (=) I=d S2) 10,704,716 10,711,090 26,374

=&l 145,948 152,322 26,374

Jl2&| 145,948 152,322 26,374

202 Oid| 3,626 10,000 26,374

01 3LHOAYI 3,626 10,000 26,374

OJl=gR+8 ol 3,626 10,000 AN6,374
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2N Se)Ee H2eR
HE: D90F HBMA Y AYFE KNG
ARA[E = £l )

S - R . (5] - i Aboy plEL HlmS2
& HSH20 4,264,420 4,325,781 261,361
= 627,720 627,720 0
sy 268,000 268,000 0
= 3,368,700 3,430,061 261,361
SEMA A 3,473,492 3,529,931 AD56,439
= 627,720 627,720 0
s 268,000 268,000 0
& 2,577,772 2,634,211 56,439
d9EE 23X 877,237 879,522 A2,285
= 554,448 554,448 0
< 322,789 325,074 A2,285
ZIEE =Y 11,610 12,600 A990
201 LEt2 A 8,910 9,900 A990
01 At22te| 8,910 9,900 2990

o245

=2=JN 8,910 9,900 2990
A2 MIAA 45,351 46,646 21,295
201 L2y 14,351 15,646 21,295
01 AtR2te| 11,651 12,946 1,295
OsttE 11,651 12,946 A1,295
SIS =00 644,510 695,347 250,837
= 2,800 2,800 0
s 208,000 208,000 0
< 433,710 484,547 250,837
s |t 171,460 219,297 N7 ,837
201 YEr2 Y 107,260 110,347 A3,087
01 AtR2te| 80,460 82,047 A1,587
O<fI&n 63 800 ANT37
O1ul=t| 0 850 AB0
02 Z524| 7,000 8,500 21,500
O3=R3 6,100 7,600 21,500
202 Ot 19,000 23,750 A4 750
01 2LHOAYI 19,000 23,750 24,750
OG- 19,000 23,750 A4, 750
301 LEIEEZ 0 40,000 240,000
07 2leI=H 0 40,000 A40,000
Osglls 20 2 U&s 0 40,000 40,000
oAl obd 16,200 19,200 A3,000
201 Ler2y 16,200 19,200 A3,000
01 At22te| 16,200 19,200 23,000
Oagd =3 6,000 9,000 A3,000
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SN 5

Ha: DROF HBMA Y YR AU

Ciel: MEXE A4Q HE NDS B4 07 (Sr9): &)

A - T S2A(31) - HRAY - BAS (PNED p[E<El HlRE2
SRS (42 FE A28 4 67 350,641 353,364 22,723
bl 60,000 60,000 0
= 290,641 293,364 £2,723
SR 2EN 33,201 35,924 £2,723
201 Br2y| 33,201 33,924 AT23
01 AFRE2t] 6,508 7,231 AT2B
oYst +84| 3,431 3,831 A 400
OANEHIIZ Hal, 24| 25t 3,077 3,400 £323
301 LBEES 0 2,000 A2,000
2 JlEE A 0 2,000 ~2,000
OBXIAEHTAY £8 THAUT 0 2,000 A2,000
HBADBEM ML 349,104 39,698 A504
2 70,472 70,472 0
= 278,632 279,226 594
o o7 2gNN 52,945 53,539 A504
201 B2Y| 51,145 51,739 A504
01 AFR2t] 5,345 5,939 A54
oYUx2 1,745 2,339 A5
FH2IBI (5| H2HTD) 790,928 795,850 £4,922
Jl2&| 41,246 46,168 A4,922
Jl2&| 41,246 46,168 N4,922
201 BI2Y| 16,186 17,783 A1,507
01 AFR2H] 14,372 15,969 A1,507
Oggt=Z| 5,943 7,540 A1,697
202 01t 13,300 16,625 73,325
ENE] 13,300 16,625 73,325
SN BELR =7 13,300 16,625 £3,325
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S A

Hal: HBY OIEZAS o1

el WBY EY maPlz 9 (EH9l: @2)
S - B SR(SIH) - NRAY - BYS PN pJE=E HimE==1

SePIE SYsYR 2,309,368 2,341,863 A12,4%

2 215,000 215,000 0

| 9,200 19,200 0

= 2,005, 168 2,107,663 A12,4%

LRI EERSE 1,367,670 1,378,770 A11,100

2 215,000 215,000 0

| 19,200 9,200 0

= 1,133,470 1,144,570 A11,100

Asy £ B2IE AT 689,444 691,777 £2,333

2 135,000 135,000 0

] 9,200 19,200 0

= 535, 244 537,577 £2,333

EETSPPSITE 24,068 25,365 A1,297

202 018 3,203 4,500 A1,297

01 =LHoib 3,203 4,500 A1,297

O=2uioiyl 3,203 4,500 A1,297

Aey EyPel 47 29 69,79 70,832 21,036

202 018 3,464 4,500 21,03

01 =LHoiH] 3,464 4,500 A1,086

OYRET ot 3,464 4,500 A1,036

HoHE SEUH JIE WL o7 106,983 109,369 £2,386

Hohs ST ST 3,843 34,169 21,326

202 04t 4,074 5,400 21,326

01 =LHOIH] 4,074 5,400 A1,326

P20 4,074 5,400 A1,326

SOHAUSZAIE SO AlE 3,540 36,600 A1,060

202 018 4,540 5,600 21,060

01 =LHoiH] 4,540 5,600 AT1,060

OBNEE HoiE TA L S%AIE 48 Oyl 4,540 5,600 A1,060

K828 Jls g 357,400 361,404 £4,004

RS2 o7 SYN 60,654 62,578 A1,924

202 04| 3,876 5,800 A1,924

01 =LHoIH] 3.876 5,800 A1,924

OREZSEAY L2EX oy 3,876 5,800 A1,924

NEEE T EVERIIE 125,718 127,798 22,080

202 018 2,920 5,000 £2,080

01 =LHoib] 2,920 5,000 £2,080

OXNYREAY AREX 2,920 5,000 £2,080
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SA: =22 R SAsen
B FEY OESAS o7
22t 0|8 DI Y Il o chel: J2)

S - FHB . GRI(BH) - MIPAY - B plE<L HimE=]
I 0|8 DRI 213,843 216,220 A2,377
s 80,000 80,000 0

< 133,843 136,220 N2, 377

MHIZSIAS 2HXK 78,020 80,397 N2,377
202 o4t 3,023 5,400 N2, 377

01 =W 3,023 5,400 N2, 377
OMHIsH1 A 3,023 5,400 A2,377
HHY2HAY|(=2D 961,698 963,093 A1,3%
JlE3l 52,763 54,158 21,395
=2| 52,763 54,158 1,395
202 o4l 6,305 7,700 21,39

01 =LHOHI 6,305 7,700 A1,3%
ORNgR = 6,305 7,700 21,39
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S A
K| ZH -
[

&l

sgll=3 2020
23

AosL2 ZH

15 01

ANEMA: SSFE & M= HE

SN - 3 - SRA(SIH) - MRAY - BES Ol kK N HIwES2
SEpIE T [ 2,803,043 2,808,810 5,767
z 512,000 512,000 0
= 2,291,043 2,296,810 15,767
Ashte BHAS o7 2,122,804 2,127,288 N4, 484
= 512,000 512,000 0
= 1,610,804 1,615,288 N4, 484
ANEHA ZBS8 L KIS JHe 437,498 439,264 1,766
ANETHA ZESS L HHHDIZ HY 29X 85,728 87,202 A1,474
201 Lst2gy| 75,468 76,002 534
01 AR 22| 4,816 5,350 534
OergH| 3,929 4,365 436
O24g 513 570 N
OEE] 131 145 A14
oYxtE 243 270 n27
202 01t 8,460 9,400 940
01 =00t 8,460 9,400 940
OBIZS THol 21aE 4,050 4,500 2450
OBIXIAIE 28 3,240 3,600 360
O=Y™IIE S &4 1,170 1,300 2130
@) NES S5 L AVD Aa 132,616 132,908 N2
201 Lstegy| 36, 186 36,329 143
01 AR 2t2]t] 1,287 1,430 A143
O] 1,287 1,430 A143
202 01t 1,345 1,494 A149
01 =00t 1,345 1,49 A149
ORYR B4 H2LF 85 9% A9
ORAL 2Z=It AER2 1,260 1,400 A0
DAY B A 246,927 248,252 ~1,3%5
DAt ABA2S SN 36,968 37,985 A1,017
201 Letet| 32,391 32,899 A508
01 AtR2te]t] 4,577 5,085 508
OergH| 2,313 2,570 N257
O2Y4g 808 898 A
oul=| 431 479 48
o3zt 102 113 A1
OFHIYRE 923 1,005 A102
202 01t 4,577 5,086 509
01 =LHoTH 4,577 5,086 509
OBIXIAIE 3 1,620 1,800 A180
OB==THHHIE &g 729 810 A8t
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L RolsaE B

D SeleR A0
=425

L Darel ZEe s (crel: m2l)
SA - EB . B2(B1) - NRAY - BAS Atol plEL HIDZ2

O=EZ S&EII 1,350 1,500 A150

OZBIIE EA 878 976 ~%8

FRU MHHD|s e & SASA AP 89,959 90,267 A308

202 01l 2,776 3,084 A 308

01 2L | 2,776 3,084 A308

Ol MHi A& 2,776 3,084 /308

HC =ATHEY DI L ADIER AR 413,929 415,322 A1,393

g 70,000 70,000 0

= 343,929 345,322 1,393

O AT D= & ADIEER 32 2HX 88,473 89,866 A 1,393

201 Yer=g| 80,536 81,046 A510

01 AtR22teldl 4,587 5,097 A510

Oget=2H| 2,852 3,169 A317

o1l=| 316 351 A35

O=&H| 609 677 B8

O&HIYXIZ 810 900 A0

202 O4H] 7,937 8,820 A\883

o7 200i] 7,567 8.620 853

OaEsC 248l 3,712 4,125 A4T3

O=2dEOtg & stg| &2H FA 1,944 2,160 N216

Osot 249 & s 661 735 NT4

O XIAIE =3 1,620 1,800 A180

HHRAHH|(sZI =2 0HAP) 680,239 681,522 AN 1,283

Jl= 2 17,780 19,063 1,263

J1=2| 17,780 19,063 1,283

201 Yer=gy| 8,660 9,463 803

01 AtR2t2lt| 7,230 8,033 A803

OJI2AI2EEH| 940 1,044 A104

oA 237 1,224 1,360 N136

OZ &l 3,446 3,829 A383

Oext= 1,620 1,800 A180

202 (4] 4,320 4,800 480

01 2L | 4,320 4,800 A480

OgRF=& NI 4,320 4,800 A480
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S A

A
I o EZSN U AQIS JlsHg

el DEE 2 MEE SN EERE))
SN - 3 - SRA(SIH) - MRAY - BES Ol kK N HwW&S2

S PIE TR RN 2,229,084 2,233,710 14,626

= 90,000 90,000 0

= 2,139,084 2,143,710 14,626

Ul EZTH L A3 12N 1,818, 184 1,821,519 13,335

= 90,000 90,000 0

= 1,728, 184 1,731,519 13,335

NEX 2 MES 54 279,914 283,249 13,335

ST} AIBHT 2K 103,757 107,002 13,335

201 YBr2gy| %5, 787 97,422 11,635

01 AFR2elt] 22,948 24,583 11,635

OgptgH| 3,908 5,633 ~1,635

202 01t 7,070 8,770 A1,700

01 =0l 7,070 8,770 AT,700

OYREZT0H| 6,269 7,969 A1,700

BHSAJH| (S 1EY YIeITA) 410,900 412,191 A1,291

PICETT 15,803 17,114 A1,291

PIEETT 15,803 17,114 21,291

201 YBr2 | 8,853 9,770 £917

01 AFR22lH] 8,253 9,170 £917

OJIZARE S| 401 1,318 A917

202 01t 3,370 3,744 A374

NENEE 3,370 3,744 A374

O=2U0iH| 3,370 3,744 ~374
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2A: sellsd Hdda
ME: Ct UES S48 U WHDIE N
OISl DET S IEMA 07 (e &)
S - B SR(30) - HITAY - B2 IR pE-L! limE=Ch
sgll=d H2gaa 1,491,688 1,496,793 A5,105
= 335,000 335,000 0
= 1,156,688 1,161,793 A5,105
22 EET | X DI 876,347 878,989 N2,642
s 335,000 335,000 0
= 541,347 543,989 N2,642
NESE Y ot Aa A4 354,271 356,135 A1,864
[ 180,000 180,000 0
= 174,271 176,135 A1,864
NSE HZ tEMA A7 2 70,853 72,717 n1,864
201 feh=2 | 55,913 57,328 A1,415
01 At22teld] 12,731 14,146 A1,415
OAtF el 12,731 14,146 1,415
o2 Et+=ZH| 10,931 12,146 A1,215
(o}2pNy=2 1,800 2,000 A200
202 04l 4,040 4,489 A449
01 =LHOHI 4,040 4,489 NA49
OLZE HH otEMat 3 =&l 4,040 4,489 A449
NIE NES HF =4 100,911 101,689 NTT8
LSE NES HEsd 29| 43,707 44,485 NTT8
201 L] 20,102 20,480 A378
01 AtR2teld] 3,402 3,780 A378
OgBt=2H] 3,402 3,780 A378
202 04l 3,605 4,005 2400
01 =LHALI 3,605 4,005 A400
OLZEE ASE HZsde+s =4 3,605 4,005 A400
HH2ATH(SI =Y S2H7AL) 615,341 617,804 N2,463
Jl=3H| 44,837 47,300 N2,463
Jl=238H 44,837 47,300 N2,463
201 e8| 18,725 20,176 1,451
01 AtR2teld] 13,060 14,511 A1,451
OAtR22|H 13,060 14,511 1,451
oBt=ZH| 7,111 7,901 ATD
olll=H| 972 1,080 A108
o= &l 4,977 5,530 2553
202 04l 9,112 10,124 1,012
01 =LHALI 9,112 10,124 1,012
ORKNSSERFA 9,112 10,124 1,012
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S A

sgl|l=d g2

g o AES =4 & HHidls Hg

el 39 HBH0IZ iz HE (et &)

SN - HB - S9(3H) - HITAE - BES 0j &t oL HIDZ2
sgJI=d g2 1,875,444 1,879,247 23,803
= 67,000 67,000 0
= 1,808,444 1,812,247 A3,803
38 MEE |4 X iD= e 1,138,330 1,140,051 A1, 721
= 67,000 67,000 0
L= 1,071,330 1,073,051 A1, 721
Sk HEH0IE Jl= one 109,511 111,232 A1, 721
a9 A7 2E X 45,511 47,232 A1, 721
201 fEH2 & 16,040 16,760 AT20
01 At22teld] 6,480 7,200 AT20
Ogtt+=EH] 3,240 3,600 A360
O=gtl 2,430 2,700 A270
Ogxt= 810 900 A0
OAEXEZE Xt 810 900 290
202 Oid| 9,011 10,012 21,001
01 =LHAOLI 9,011 10,012 21,001
O"otel B4 & o 9,011 10,012 21,001
HH2IZH (== SHFIHRL) 737,114 739,196 N2,082
J1I=23H| 25,028 27,110 N2,082
Jl=&H 25,028 27,110 N2,082
201 ZetEg| 16,437 18,008 1,661
01 At=2teld 14,947 16,608 1,661
Ogtt+=EH] 1,747 13,052 1,305
Oo=2g=+d 3,200 3,556 A356
202 04l 3,791 4,212 N1
01 =LHAHI 3,791 4,212 N421
O3 0| 3,791 4,212 A421
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A sEII=E MU0IZBHAA
B!

Az At C|)|% 2 THEDIE N
SHRl: At 012 Dl W & DEE Mt
S - ZE - SRI(S1) - HRAY - BAS 0l st plE<L
sZI|=2 AI0|EARA 1,200,388 1,205,103
s 112,000 112,000
& 1,088,388 1,093,103
AZE OlE ¥ THEHD = N 793,987 797,545
s 112,000 112,000
= 681,987 685,545
ADE OIE Dl e Y DEE Mat 230,677 234,235
AN Z2E |4 L IR g4 85,670 86,300
202 04| 5,670 6,300
01 =LHOAHI 5,670 6,300
OAMNILSE =4 & RIPIIX| ga A3 =& 5,670 6,300
AL D1SE ATH O 3,258 3,620
202 Ot 3,258 3,620
01 =2LHOHI 3,258 3,620
OAtt JISEAN A7 =8 3,258 3,620
At AR 28 XA 33,249 35,815
201 Ler2Z| 25,419 27,355
01 At22teld| 17,419 19,355
Oget=2H| 7,116 7,907
OYxt= 5,443 6,048
OZIAMIMBLEEEE |3 2 4,860 5,400
202 (4| 5,670 6,300
01 =2LHOYI 5,670 6,300
Ozt &sl 2 Mot &4 5,670 6,300
HAE LAY (=223 AH0IEHRL) 406,401 407,558
Jl23dl 15,013 16,170
J|2&| 15,013 16,170
201 LEt2 | 8,011 8,790
01 AtR2teltl 7,011 7,790
Ogt+=2H| 1,287 1,430
O1ul=Hl 540 600
O=E] 5,184 5,760
202 Ot 3,402 3,780
01 =LHOAHI 3,402 3,780
FASSHRFA 3,402 3,780
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SN SIS ABNRARL
Hu: obx BESM W WHIDIZ N
CHel: ot ASKIS3 01 (Sr9: &)
S - T S2A(B1) - IRAKY - (PNED p[E<El HlRE2
Se|& SERANRA 635,672 639,024 £3,152
% ZZSH U MUHIIE N 430,198 431,980 A1,782
oLE ASH=23 17 3%, 198 396,980 A1,782
g2 SAN 9,750 9,532 A1,782
201 Yk 70,140 71,122 £982
01 AF= 2l 8,840 9,822 1982
OgBrgY| 5,229 5,810 ~581
oYtz 3,611 4,012 A401
202 01t 7,200 8,000 2800
ENE] 7,200 8,000 2800
SEELER-EES NV 7,200 8,000 £800
HH2YAH| (YIS ASAVHTL) 205,674 207,044 A1,370
o= 2| 15,808 17,198 A1,370
o= 2| 15,808 17,198 21,370
201 B2 ] 8,778 9,698 £920
01 AF= 2l 8,278 9,198 A920
o8l 4,552 5,058 £506
oYLy 1,620 1,800 A180
Qul=t| 648 720 AT2
o=t 1,458 1,620 A162
202 04| 4,050 4,500 A450
01 =LI0H] 4,080 4,500 Ad50
ORANBS 2= 4,050 4,500 £ 450
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S A

X XH -
o= -

s)(=3 XI2D=
sEXNTAY 2435t
sEXNI|HESE

=k Gl (&2l =)
SA - JJ - GR(3AH) - MRAY - BYS Ol &kt J|EH HInE2

=20|1=3 X&J& 11,789,735 11,799,706 9,971

= 1,240,000 1,240,000 0

s 6,312,000 6,312,000 0

[ 4,237,735 4,247,706 29,971

SENZAE 435t 11,572,045 11,579,175 AT7,130

= 1,240,000 1,240,000 0

s 6,312,000 6,312,000 0

[= 4,020,045 4,007,175 A7,130

sENTIEtEE 10,040, 100 10,042,400 2,300

= 510,000 510,000 0

s 6,312,000 6,312,000 0

= 3,218,100 3,220,400 A2,300

sEXNEAY &1 10,350 11,350 21,000

206 =4l 0 1,000 1,000

01 =8l 0 1,000 21,000

Od=sS4ts HIKEEE 28 JAINE 0 1,000 A1,000

NEJE 23 47,250 48,550 1,300

202 Oid| 11,700 13,000 A1,300

01 =LHOAYI 11,700 13,000 1,300

OsZEXNEAMY 1t FRFT 11,700 13,000 1,300

SHESEER 32,834 33,800 A9B6

W23 SYFHA EL 8,494 8,740 A246

206 MH=4| 3,704 3,950 N246

01 =4l 3,704 3,950 N246

OsZ =3t A= 2,704 2,950 A246

Olcis: X 24,340 25,060 AT20

202 04l 6,480 7,200 AT720

01 2Ll 6,480 7,200 AT20

OAMOIHEE HREFA 2,880 3,600 AT20

HA =l 1,499,111 1,502,975 A3,864

= 730,000 730,000 0

= 769,111 772,975 A3,864

sg0 XX 4 JA(2Y) 2,705 3,705 21,000

206 TH2H| 0 1,000 21,000

01 MHeHl 0 1,000 A 1,000

O=gQl ststHl s M= 0 1,000 A1,000

4H W= A RIZ 16,480 17,480 A1,000

206 TH2H| 0 1,000 21,000

01 X2l 0 1,000 21,000

OgE=INE 0 1,000 A1,000
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S A

7(‘|J_:H:

=BIEEBEBIER
EXSAI 25t

Gol: Sa POl (el &)
SA - FB - S2(3) - MSAY - BAS ofl by plE-Ll A==l
d2E=s4 T 18,976 20,840 1,864

201 2| 10,296 11,440 A1,144

01 AtS2teld] 10,296 11,440 AT1,144
O4+H 54 4,096 5,240 A1,144

202 (4| 6,480 7,200 AT20

01 =2LHOHI 6,480 7,200 AT20
SYXEXSYE HRFH 2,880 3,600 AT20

MY LAY (=I1=3 XI2D|ED) 217,690 220,531 A2,841
JlEdl 38,749 41,590 A2,841
JlE2&l 38,749 41,590 A2,841
201 2| 20,564 22,518 A1,954

01 At22teld| 17,587 19,541 A1,954
Oget==2H| 14,311 16,265 1,954

202 Oid| 7,985 8,872 AB87

01 =LHOAYI 7,985 8,872 N887
ORAM SR =& 7,985 8,872 AB87
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=)|=4 JsEs
[EPSEINEIEIS
NEE AMSIMMAL J|=23 CHol: & S)
A - DB SA(SAH) - HRAY - B algels J|&H Hins2
=3 J|lsE23 9,517,438 9,529,590 A12,152
= 6,356,050 6,356,050 0
Ay 461,500 461,500 0
Dl 41,290 41,290 0
& 2,658,598 2,670,750 A12,152
NI 9,395,520 9,406,060 10,540
= 6,356,050 6,356,050 0
rag 461,500 461,500 0
J| 41,290 41,290 0
o= 2,536,680 2,547,220 10,540
& AMEOIAMAL J =83 5,211,284 5,214,380 A3,096
= 3,851,800 3,851,800 0
J| 41,290 41,290 0
& 1,318,194 1,321,290 A3,096
HAE AN 33,264 36,360 A3,096
201 L2 HH| 25,614 28,010 N2,39%
01 AtR2t2lt| 21,564 23,960 N2,39%
Oget=2H| 12,240 13,600 1,360
(@] 1,800 2,000 200
OZ &l 3,024 3,360 A\336
Oex= 4,500 5,000 A500
202 (4H] 6,300 7,000 A700
01 =L I 6,300 7,000 A700
Osgll=E22 gRFX 6,300 7,000 AT700
Hols ADls B3 2,346,988 2,350,260 N3,272
= 1,485,000 1,485,000 0
T 861,988 865,260 N3,272
=== 29X 40,928 43,380 N2,452
201 et249H 13,968 15,520 1,552
01 AFR22te| 13,968 15,520 1,552
Ogbt2H| 8,100 9,000 A900
o299+ 1,800 2,000 200
oYxz 1,800 2,000 200
O=&| 2,268 2,520 VAV o YA
202 (4] 8,100 9,000 A900
01 =L I 8,100 9,000 2900
Odl== I3 gRFA 8,100 9,000 2900
SEMA D82 XA 9,380 10,200 A\820
201 LEt2HH| 7,380 8,200 A820
01 AtR22teldl 7,380 8,200 A\820
ORILH (KW XS HER2E 2AIR) 6,480 7,200 NT20
OXAXH (U XIZCHSH HE) 900 1,000 A100
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o1& I3
IEN 522
ZX SAXEE ADIE SUES el ®e)
A - HE . SI(S1H) - HISA 04l b0t plELT HlDEY
S CE RS 1,147,488 1,151,020 13,532
= 972,000 972,000 0
< 175,488 179,020 13,532
Sxe YR 17,788 21,320 13,532
201 Yer2 | 9,688 12,320 12,632
01 Al 2] 9,688 12,320 A2,632
Oegt| 4,688 5,800 A1, 112
o294y 1,500 2,000 2500
OYxtE 1,500 2,000 2500
=L 2,000 2,520 A520
202 01t 8,100 9,000 A900
01 =UHoiH] 8,100 9,000 900
O2SJ1& YRFX 8, 100 9,000 2900
2 AD|SEY L HHSASY 689,760 690,400 1640
= 47,250 47,250 0
2 461,500 461,500 0
< 181,010 181,650 640
HMHSSE +2 U HHESH 57,260 57,900 640
201 YBr2 | 23,760 24,400 640
01 Al 2] 5,760 6,400 640
Oergt| 3,960 4,400 40
OYxtE 900 1,000 2100
o294y 900 1,000 2100
#MeHAY| (S22 JEE2) 121,918 123,530 A1,612
PIEETT 19,750 21,362 A1,612
PIEETT 19,750 21,362 A1,612
201 Yer2 | 7,835 8,706 N8BT
01 Al 2] 7,835 8,706 A8
Oegt| 5,315 5,906 ~591
OEE] 2,520 2,800 1280
202 01t 6,665 7,406 ATAY
01 =UHoiH] 6,665 7,406 ATAT
OJl2ge 48 6,665 7,406 A4
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SN SYI|sE sENED
o sENAEE 67 2 Jls 23
=AY
A - " . e(3]H) - Abod plE<LN
4,158,629 4,167,924
2 1,149,500 1,149,500
= 400,000 400,000
= 2,609, 129 2,618,424
Y 3,866,818 3,874,979
2 1,149,500 1,149,500
2 400,000 400,000
= 2,317,318 2,325,479
ESE 1,613,775 1,617,220
=2 591,500 591,500
= 345,000 345,000
< 677,275 680,720
SEMBO| 225 2N 27,3% 29,700
201 QP2 | 14,895 16,300
01 AFR22lH] 12,645 14,050
Ogetgt| 3,420 3,800
osg+y 2,575 3,000
OYxtE 2,700 3,000
o= 2,700 3,000
8,100 9,000
8,100 9,000
8,100 9,000
7,110 7,750
5,760 6.400
5,760 6.400
5,760 6,400
4,500 5,000
4,500 5,000
4,500 5,000
4,500 5,000
2,065,780 2,068,600
=2 558,000 558,000
= 25,000 25,000
= 1,482,780 1,485,600
56.310 59, 130
21,830 23,750
17,280 19,200
oYk 3.780 4,200
o2 +g 9,000 10,000
OUxtE 2,700 3,000
oz 1,800 2,000
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2A: sellsd sEN

M SENZEE d7 2 Dls s

ool &R A3 (=E LD
SN - 3 - SRA(SIH) - MRAY - BES Ol kK N HIwES2

202 01t 8,100 9,000 900

01 =UHoi| 8,100 9,000 A900

O=U{0iH| 8,100 9,000 A900

S42 018 JlE 97 187,263 189,159 A1,8%

2 30,000 30,000 0

= 157,263 159, 159 A1,8%

SA2 018017 2K 65,263 67,159 A1,8%

201 LBr2| 60,303 61,648 A1,345

01 AR 22l 2,105 13,450 A1,345

OYBr8H| 11,29 12,550 A1,255

ORY2Y 405 450 A5

Qul=t| 405 450 YAV:TS)

202 01t 4,960 5,511 551

01 =LH0id| 4,960 5,511 7551

REZ HXIAIY BT 4,90 5,511 551

FY2AAY(SAI|eY SENAD) 291,811 292,945 A1, 134

o= 3,804 14,938 A1, 134

I 3,804 14,938 A1, 134

201 LBr2 | 4,881 5,424 543

01 Al 22l 4,881 5,424 A543

OYBrgH| 3,218 3,576 1358

ozt 1,663 1,848 A185

202 018 5,323 5,914 591

01 =Lhoid| 5,323 5,914 591

OJ1=YR 48 5,323 5,914 A591
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SA: SYIISE DS S
Zu: J|EHA M2 50l |4
ool =elzus 29 (2o &9)
S - B SRI(3IH) - NRAY - BYS 04l b0t plELT HlDEY
SEpIE RS I’ 4,047,665 4,078, 161 £30,49%6
2 1,294,000 1,294,000 0
= 2,753,665 2,784,161 £30,4%
IEEA W2 S0l |4 3,144,922 3,172,716 £27,7%
=2 1,294,000 1,294,000 0
= 1,850,922 1,878,716 £27,7%
S2II20S 2% 1,242,934 1,257,502 14,568
=2 835,700 835,700 0
< 407,234 421,802 14,568
sJI2s 2N 108,839 113,241 14,402
201 Yure | 83,569 87,291 £3,702
01 AR 22l 33.318 37,020 A3.702
Ogetgt| 25,588 28,570 12,982
o2grg 3.240 3,600 A360
OUxta 3,240 3,600 A360
202 Ot 6.300 7,000 AT00
01 =LHOIH 6.300 7,000 AT00
OnsEUYRE 6.300 7,000 ATO0
NS InEETE=STIREE 116,295 126,461 A10,166
201 Lere | 91,495 101,661 £10,166
01 AR 22l 91,495 101,661 A10,166
ORMHE S Ler+2H| 8,695 9,661 1966
o2g+g 73,800 82,000 £8,200
Oxrxz 9,000 10,000 A1,000
Ml AIIETY DFALY 775,858 786,654 A10,79
=2 114,800 114,800 0
= 661,058 671,854 £10,796
ATEC 29 262,794 268,230 15,436
201 Ler2i| 222,924 228,360 75,43
01 AR 22l 48,924 54,360 75,43
OgergH| 44,550 49,500 24,950
oDSZ ¢ 24 29 SETY 4,050 4,500 A450
o2& HIIZ X2 40,500 45,000 14,500
ogxE 4,374 4,860 1486
HeMdIE E Y HELY AN 41,314 45,905 £4,501
201 Ler2i| 3,193 40,215 £4,022
01 AR 22l 3,193 40,215 £4,022
OgergH| 19,993 22,215 £2,222
OTLAH K=t 16,200 18,000 A1,800
0EE2 AN S 3.793 4,215 n422
OBEI} LAY 16,200 18,000 A1,800
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SN 52|z D= DS
E: J|Es M2 S0l |4
B9 BHel ADIZEY NSA (B &)
SN - 3 - SRA(SIH) - MRAY - BES Oif &K N HIwES2
202 04t 5, 121 5,690 569
01 =00t 5,121 5,690 569
Otellzngey 5,121 5,690 569
ADEL FEZY 2]MEH 29 57,122 57,891 AT69
201 Lsr2gy| 6,922 7,691 AT69
01 Ak 2relt] 6,922 7,691 AT769
OYSWE, HIMS, FINS ST S 6,922 7,691 AT769
SQDIHRS 2 ALY 1,126,130 1,128,560 12,430
= 343,500 343,500 0
= 782,630 785,060 2,430
S PEE ] 21,880 22,960 1,080
201 Lsr2gy| 7,290 8, 100 A810
01 Al 2] 7,290 8,100 A810
OnM M, E22/23 S 7,290 8,100 ~810
202 01t 2,430 2,700 A270
NEVEE] 2,430 2,700 A270
OnSM U 424 8% JIZNE 2,430 2,700 A270
AEE SEH NZYUGH| IRME(XNE) 82,750 84, 100 1,350
201 Yer2 | 20, 150 21,500 ~1,350
01 Al 22t 12,150 13,500 1,350
ORSSY DWHE, LAZ S 12,150 13,500 A1,350
HHSAAY (S E (=L DS 902,743 905,445 A2,702
PICETT 34,958 37,660 A2,702
1=l 34,958 37,660 A2,702
201 Lstegy| 20,414 22,080 1,666
01 Al 2] 15,002 16,668 1,666
Oetgt| 7,776 8,640 864
o=l 243 270 no7
OEE] 3,370 3,744 N374
OYxtE 3,613 4,014 A401
202 01t 9,304 10,360 A1,036
01 =UHot 9,324 10,360 1,036
2N BEYR = 9,324 10,360 A1,036
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